Year 4 Maths Term 2 Week 9 Lesson 4

LO: To be able to solve word problems using division.

Julia's wardrobe has a total of 36 pieces of clothing. If they are arranged equally in
three shelves, how many pieces of clothing will be found in each shelf?

John stacked up some firewood in his garage. If he arranged 81 logs of firewood in
9 bundles, how many logs does each bundle contain?

Rebecca used 84 acrylic beads to make a multistrand necklace for her daughter. If
the necklace has four equal strands in all, how many beads does each strand hold?

Sandra, a handler in a toy manufacturing unit needs to pack 71 identical toys in
equal numbers in 3 cartons. How many toys can be packed in each carton? How
many toys remain unpacked after she has sorted them equally?

Remainder:
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